HKAE25

R % ¥ 5 & SCEB
1 BEXE £ 600,000 F
2 {HEBhEREERE £ 250,000 M
[URA D ER] (Bifz:M)
B _H FHEE A H
300,000|EITRESHEEE
WEE
100,000 X A @1,000 x 75 A =75,000M
FEH@500 x 50 A =25,000
=8
FiidE
200,000| AL &
ZDfth
it 600,000
KBTI, ML BEELEO T, 2 THEEETLALTEEL,
[ZH D ER]
LKLEBERZRBEE> (B M)
# B FEEE A A
40,000(OOK#i€ 40,000
ik
260,000lO0KTE;H& 20,000
OOKXBEE 240,000
(EVR)7—HRRER—BEME:E18)
2,500| =5 EHER
HERE
2,500(:% ¥} 2
BIEERE
10,000{ 4/ R hFS S ENRIE
FNRI| S AR &
5,000;@:ERE &
AR - AR
20,000| =15 5| A ¥
=58
150,000| A N> ~FA#E S {8 L% 150,000/
& %l
10,000 OO0 KEB=EH K
BME
RIEH
Nt 500,000




LEXRRZEED

(Bfz:M)

M _H

TEE

A

TERK

10,000

OOK&HxXEHK 10,000

B E

ABE

90,000

RIGREAFVINGE

e - fEE

USRS

[

100,000

600,000




